Geography quiz

Choose the correct option

1. The sun sets by the:
A) West
B) East

2. The sun rises by the:
A) West
B) East

3. In this municipality the water reaches 3,900 liters by m*:

A) Cuetzalan
B) Tehuacan
C) San Sebastian Tlacotepec

4. In this municipality the water reaches 40 liters by m?:

A) Cuetzalan
B) Tehuacan
C) San Sebastian Tlacotepec

5. In this municipality the water reaches 800 liters by m?:

D) Cuetzalan
E) Tehuacan
F) San Sebastian Tlacotepec

6. Mention the three most important rivers in Puebla.

7. Mention the two rivers that finish at the Gulf of Mexico.
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